

Contact Transformations and Conformal Group. III. Finite Nonrelativistic Transformations¹

JOSE M. CERVERO²

Lyman Laboratory of Physics, Harvard University, Cambridge, Massachusetts 02138

Received: 24 January 1977

Abstract

Contact conformal transformations (as defined in a previous work) are integrated giving the finite form of these transformations. Some properties of such a group of motions are pointed out.

We must refer to some already published papers (Boya and Cerveró, 1975a, 1975b). In (1975b) the contact conformal transformations in the nonrelativistic case were defined, in their infinitesimal form. In order to analyze more deeply the apparent unphysical transformations Y_1 , Y_2 , and Y_3 (1975b), which are pure contact transformations, we use here the usual way of integration for such infinitesimal generators. Finite transformations in the form

$$x \rightarrow \bar{x}' = f(\bar{x})$$

can be put as follows:

$$x'_i = x_i + \frac{1}{1!} (Xx_i)\tau + \frac{1}{2!} (X^2x_i)\tau^2 + \cdots + \frac{1}{n!} (X^n x_i)\tau^n \quad (1)$$

where X is the infinitesimal generator of the transformation. In our case

¹ Research supported in part by the National Science Foundation under Grant No. MPS75-20427.

² On leave of absence from Departamento de Fisica Matematica, Universidad de Salamanca, Spain.

$x \equiv (x, t, v)$ and $X \equiv (Y_1, Y_2, Y_3)$. Starting with Y_1 we find

$$\begin{cases} Y_1 t = tF \\ Y_1^2 t = 2tF^2 \\ \vdots \\ Y_1^n t = n!tF^n \end{cases} \quad (2)$$

where $F = \frac{1}{2}vt - x$. Therefore, using (1),

$$t' = t + a_1 tF + \cdots + a_1^n tF^n + \cdots = \frac{t}{1 - a_1 F} \quad (3)$$

because the right-hand side of (3) is the asymptotic expansion of such a function, since

$$\frac{1}{1-x} = 1 + x + x^2 + \cdots + x^n$$

and

$$\frac{1}{(1-x)^2} = -[1 + 2x + 3x^2 + \cdots + (n+1)x^n + \cdots] \quad (4)$$

With the same procedure for x we find

$$\begin{cases} Y_1 x = F^2 + 2xF \\ Y_1^2 x = 4F^3 + 6xF^2 \\ \vdots \\ Y_1^n x = n \cdot n!F^{n+1} + (n+1)!xF^n \end{cases} \quad (5)$$

and applying (1) and making use of (4) we get

$$\begin{aligned} x' &= x \left[1 + \frac{1}{1!} 2!a_1 F + \frac{1}{2!} 3!(a_1 F)^2 + \cdots + \frac{(a_1 F)^n}{n} (n+1)! \right] \\ &\quad + F[Fa_1 + 2(Fa_1)^2 + \cdots + n(Fa_1)^n] \\ &= -\frac{a_1 F^2 + x}{(1 - a_1 F)^2} \end{aligned} \quad (6)$$

Finally for the transformation in the v -coordinate

$$\begin{cases} Y_1 v = vF \\ Y_1^2 v = 2vF^2 \\ \vdots \\ Y_1^n v = n!vF^n \end{cases} \quad (7)$$

and we obtain $v' = v/(1 - a_1 F)$ after a short calculation.

Similar procedures must be employed in the integration of the Y_2 and Y_3 infinitesimal generators. For brevity, we give only the answers:

$$\begin{cases} Y_2 t = vt - x \\ Y_2^2 t = v(vt - x) \\ \vdots \\ Y_2^n t = \frac{n!}{2^{n-1}} v^{n-1}(vt - x) \end{cases} \quad (8)$$

and

$$\begin{cases} Y_2 x = \frac{1}{2}v^2 t \\ Y_2^2 x = \frac{1}{2}v^2(2vt - x) \\ \vdots \\ Y_2^n x = \frac{n!}{2^n} v^n [nvt - (n-1)x] \end{cases} \quad (9)$$

and

$$\begin{cases} Y_2 v = \frac{1}{2}v^2 \\ Y_2^2 v = \frac{2!}{2^2} v^3 \\ \vdots \\ Y_2^n v = \frac{n!}{2^n} v^{n+1} \end{cases} \quad (10)$$

and the relevant actuation of Y_3 is only

$$\begin{cases} Y_3 t = v \\ Y_3^2 t = 0 \\ \\ Y_3 x = \frac{1}{2}v^2 \\ Y_3^2 x = 0 \\ \\ Y_3 v = 0. \end{cases} \quad (11)$$

The final form of transformations using (8)–(11) and adding the Y_1 transformation is

$$Y_1 \begin{cases} x' = -\frac{a_1 F^2 + x}{(1 - a_1 F)^2} \\ t' = \frac{t}{1 - a_1 F} \\ v' = \frac{v}{1 - a_1 F} \end{cases} \quad (12)$$

where $F = \frac{1}{2}vt - x$

$$Y_2 \begin{cases} x' = \frac{a_2 v^2 (t - a_2 x)}{(1 - va_2)} + x(1 - va_2) \\ t' = t + \frac{2a_2 (vt - x)}{(1 - va_2)} \\ v' = \frac{v}{(1 - va_2)} \end{cases} \quad (13)$$

and

$$Y_3 \begin{cases} x' = x + \frac{1}{2}a_3 v^2 \\ t' = t + va_3 \\ v' = v \end{cases} \quad (14)$$

Let us concentrate on the obvious singular behavior of transformations defined in (12) and (13), since (14) is well defined in the whole space. In the first case this singular behavior occurs for $(1 - a_1 F) = 0$ or, in other words,

$$\frac{1}{2}vt - x = k_1 \quad (k_1 = 1/a_1) \quad (15)$$

For each value of k_1 (or $1/a_1$) we have a hyperboloid as the singular locus of the transformations. For the condition (13), (15) takes the simple form

$$v = k_2 \quad (k_2 = 1/a_2) \quad (16)$$

which is a family of flat surfaces, parallel to the xt plane.

In addition, the asymptotic expansion (4) requires $|x| < 1$. Therefore, in the first case the transformation is only defined if for each value, and consequently for each surface (15), x and t take values according to this expression. A similar condition must be imposed in the second case leading to v values bounded by $|v| < k_2$.

References

- Boya, L. J., and Cerveró, J. M. (1975a). *International Journal of Theoretical Physics*, 12, 47.
Boya, L. J., and Cerveró, J. M. (1975b). *International Journal of Theoretical Physics*, 12, 55.
Cerveró, J. M. (1973). Ph.D. Thesis, Valladolid University (unpublished).